
#Determinant of prod of matrix
Lemma: let E be elem matrik and

Parat

Then det (EA) = detCE )det CA)

case on how
If row exchange,

If mid row:

we got E.desE = - det In =-1
-1 det A

det (E)detlA)
det E = c det In = c for some constant c

det (EA) = c det A
= det E

If add mad of row: det E
det (EA) = det A

• det E

det A
det In =1

* Proposition 9

If Anon and Burn, det (AB) = det A det B

, det A =0 = det A det B = 0
Bet if Arsing than any dat A - is ingrats, de Bo 18 - 0

If A invertibe, then
Then det (AB)

A = EEs... En for dem ms Er..N
det (Er ... ENB)

# Det of tramspese
* Property to: Let Anan. det (AT) = detCA) (Proof omitted I

Implications: properties about now of matrix also apply to now!
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Ann.

det(EA) =

det A
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# General recursive formula

Base cause (272 wax.)
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A Doesn't generalise to higher

To be continued

de = neitbfg + edh-ceg-afh-bdi
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